PROVINCIAL ELECTRICITY AUTHORITY

TECHNICAL SPECIFICATION DIVISION

TOLERANCE

Specification No. - Approved date : 31 UM 5562
Bid No. N2.(3%.)-07-2566

Rev. No.:01 | Form No.:- | Page2of2

o/ 1 v <
sﬂugmgngmg Hasauanyad

14 X2
o o

b X1 W B
(LT 2 ; i
1 mEB Qi N
i PEA |

4. =

I




PROVINCIAL ELECTRICIW AUTHORITY

59
TECHNICAL SPECIF|CATION DIVISION | : J
wﬂaumsmﬂawmyﬁam‘s wazgunsaluszney |
TIRAB T ey No.: 01 | Form No. : - | Page 1 of 2

—

- Specification No. - | Approved date :
Bid No. N2.(3%.)-07-2566

mnmnﬁmﬁuuwﬁwswazt‘ﬁuﬂﬂnm (ADDENDUM)

mnmstwumu (ADDENDUM) U 'Lwﬂa'mﬂumwuwaqswa \BuAAAY Fareluil

- amﬂmaamaw RHDW-024/2557 : AuANAGaUaWIU 817 1,000 1.

- awpdradauand RHOW-025/2559 : pauwdndauauiu 817 1,700 uu.

_ anlngn B uiauit RHDW-026/2559 ; Aeuawiuviln Fiberglass Reinforced Polymer (FRP)
A2MEM 1,700 M.

_ audndrBaani RHDW-027/2559 : pauawiuviia Fiberglass Reinforced Polymer (FRP)
ANNE 1 000 pIETR

- aulﬂmaauaw RHDW-030/2563 : a‘ﬂnimﬂsmaummwmauaaa'ﬁ

ﬁmwmsaﬂmﬂauﬁams uavaﬂnsmﬂsznau (aN1EsIENISANINABITUIA M16x200 mm

(1010110202), M16x300 mm (1010110204), M16x350 mm (1010110205), MLGXG00" frim'(1010110206)

LaraSNINaLNRasALIn M16x250 mm (1010120006)) mual.ﬂﬂmaaamnawu'mmu TutumoumIngIasu
ﬂmonsmmsmswsummsﬂmLuums‘lﬂmwa (1) ¥38 (2) wail

¢ mendensdaeuiuusarasliangnssun1Ingeiy ynsnsaInie (Visual  check) tu
f1uau wardudiiet iedslFandunaaauiiugvaasy Taesuauiegne uavidonsvaasuasien
Hulsmufisasdeaaaimun Tﬂaamuuwmaaumuﬂmanwmmﬂmwm Fameluil

(1.1) WuandunageuldunisiusemuunnIgiu wen. w3e IEC/ASO 17025 Ingdl
'ua‘u‘znumswiaaﬂsaUﬂauwwamswmaUmuwswautaummﬂmwuﬂ 7390
(1.2) uanduneaauuian® amine iy MiIeUTTIUnTs wsonasaunelanis
ey Merslul
- gudwaluladlave uauaaﬂuwmm (MTEC)

- quamaauwamnmvﬂﬂﬂ'\ wazdidnvsetind (PTEQ)

- dinausnnsgundadusignamnssy (@ue)

. apndulwih wavBidnwssiind (EEN

- nsWAvenans wazuinis (DSS)

- quawmaau Laznasinen (A aathAdeivienman wazwaluladuiaUssvave

- POAINIINMTINETEY

_ amtuwalulainsseeindidnuymsaiansy s

- mslnfindnesdauwiaUszvelng (NWi.)

- msivAuaTan (nwu.)

- msinfdugiing (nWa.)

- ﬁuwﬂawmﬂwﬁmavaﬂnsmmauuan anvuuinnssuiiled

- aontunadeudur AFTunsiusesn PEA Veh)
Tsp (1 3) Tswmqmamwmumsmumu ua-"lﬂsun'ﬁsusaa‘lmmmsmﬂaamwamsmwwmﬂ PEA




PROVINCIAL. ELECTRICITY AUTHORITY
TECHNICAL SPECIFICATION DIVISION

Sumeumsnsraiuaeudedns uazgunsaiusznay

af -

Specification No. - Apprbved date: 1 AN BB | Rev. No.:01 | Form No.: - l Page 2 of 2

Bid No. N2.(3%.)-07-2566

o a‘ 3 ol.’: 8/
@) rounsdeavluudazen Wigdyaiuds Serial  number wawammaa’tummuu‘lw

q
3/

ﬂmunisum‘smmsuwmsmaumaﬂ susuiismualiluneandesan Lwa‘lmﬂumamqwammu
vYnnsnaaeutiensnsaiu uazudsligdyymidodavagau Serial number fianenTsans qu
Laanl'd'wmaauLwamwsmsum'mmmamswmaavwnwuml’:‘lusmavt.aEmmﬂﬂ o amwmaau AL
seyludie (1.1), (1.2) %30.(1.3) Tnglumsdsneuwan 'lme?ty{gwﬂaas'\m'\uwamswmaaumamwsww
Fanan wndeufunisdmeuan WelviannisiningeiuRITlInIaey TngAnznssuNIIATITIY
lidmedusiegna uazdwhmsnaaeuiomsasaiulnl

il srenumamsvegeuiiieninatuiena wspeszy Serial number VGRCPLERNTGE qi

0 <l
vinmavedeu i Serial number Weniufianenssumansaefududduden

RUIBLNN)

(1) ﬂammw.mauﬂumuw%aum’lﬁma'lumi‘wmaumamsmswsumv&uﬂ

%) mmumswmanmamsmmsumﬂumwmaa'uwuummu Wadaardndaanlusiimauny
mamawamwuﬂﬂmaavmnm’: ma’lwﬂsummumuwsvumué’cym

(3) dwiugunsaiuszney anuens1eduan Wanenssunsenaiu ameaeulaedininge

AU HATHUAIUN Ltavamﬂaauma'm“ummumiﬂwmamumulu PEA ieldnaussnaunsiansan
#5295V

SR e

1 WASHER, LOCK, SPRING, SIZE 16 MM.,TIS.259 ‘ 1010180301
2 WASHER, ROUND, FLAT, SIZE 16 MM. 1010180400
3 BOLT, MACHINE, HEXAGON, M 16 x 50 MM. : 1010110404
4 ST. PLATE, CLEVIS FOR TELECOM. CABLE ] 1010030009

ng




BID No. N2.EB.(3%1.)-07-2566

Q

PROVINCIAL ELECTRICITY AUTHORITY

w TECHNICAL SPECIFICATION DIVISION
PACKING DETAIL
Specification No.: - Approved date: 14/08/2558 Rev. No.: - Form Na. - Page 1 of 3
Addendum

This addendum is made to be a part of specifications it's attached.

1. Replace the packing detail only for the specific items in the specifications by the packing detail specified in

Table Al below:

Table Al: Packing Detail

- e rexme | g | Qo | T
1y No. method package/case
Gl b | per pallet
Connectors and cable accessories:
1 Hot line bail clamp (hot line stirrup clamp), for 102-033-06000 Sealed 40 49
main aluminium conductor size 25 mm’ to 50 mm’ package
2 Hot line protected thread clamp for main aluminium 1020330100 Sealed S0 100
conductor size 25 mm' to 50 mm’ package
3 Hot line protected thread clamp for main aluminium 1-02-033-0101 Sealed 50 50
conductor size 50 mm’ 1o 120 mm’ package
4 | Compression splicing sleeve, full tension, for | 1-02-040-0002 Suitable 100 100
aluminium conductor size 50 mm’ package
s | Compression splicing sleeve, full tension, for | 1402-040-0004 Suitable 50 100
aluminium conductor size 95 mm’ package
6 | Compression splicing sleeve, full tension, for | 1402-040-0007 Suitable 30 S0
aluminium conductor size 185 mm’ package
7 Compression splicing sleeve, full tension, for | 1-02-040-0009 Suitable 30 SO
aluminium conductor size 400 mm’ package
8 | Compression splicing sleeve, partial tension, for | 1-02-041-0002 Suitable 100 100
aluminium conductor size 50 mm’ package
9 Terminal connector (lug), compression type, for | 1-02-041-0106 Suitable S0 S0
aluminium conductor size 185 mm’ package
10 | Pinterminal, for aluminium conductor size 50 mm’ 1-02-042-0400 Suitable 50 100
package
Overhead line hardware:
11 | Angle steel crossarm, size 150x100x12 mm, length | 1-00-012-0002 Bundle 10
4,500 mm
12 Channel steel crossarm, size 100x50x5 mm, length | 1-01-000-0103 Bundle 20 -
4,200 mm
13 | Channel steel crossarm, size 100x50x5 mm, length | 1-01-000-0104 Bundle 20 -
4,500 mm
14 | Channel steel crossarm, size 150x75x6 mm, length | 1-01-000-0300 Bundle 20 -
2,800 mm
15 | Channel steel crossarm, size 150x75x6.5 mm, length 1-01-000-0301 Bundle 20 S
4,000 mm

Issued by SmartSpec Date. 25/11/22




BID No. N2.EB.(a%.)-07-2566

@

PROVINCIAL ELECTRICITY AUTHORITY

i TECHNICAL SPECIFICATION DIVISION
PACKING DETAIL
Specification No.: - Approved date: 14/08/2558 Rev. No.: - Form No. - Page2of 3
B I e Py g Yo
’ No. method package/cas
o - A , PPEVRETTT L e
16 | Channel steel beam, size 150x75x6.5 mm, length | 1-01-000-0302 Bundle 20 -
4,500 mm
17 | Channel steel beam, size 150x75x6.5 mm, length | 1-01-000-0303 Bundle 20 -
6,000 mm
18 | Channel steel beam, size 150x75x6.5 mm, length | 1-01-000-0304 Bundle 20 -
2,500 mm
19 | Channel steel crossarm, size 150x75x9 mm, length [ 1-00-012-0004 Bundle 20 -
3,000 mm
20 | Angle steel beam, size 65x65x6 mm, length 1,000 mm | 101 -001-0000 Bundle 100 =
21 Bolt, machine, M 16 x 170 mm 1-01-011-0201 Sack 100 560
22 | Bolt, machine, M 16 x 300 mm 1-01-011-0204 Sack 80 56
23 | Bolt, machine, M 16 x 350 mm 1-01-011-0205 Sack 80 56
24 | Bolt, machine, M 16 x 450 mm 1-01-011-0207 Sack 40 56
25 | Bolt, machine, M 16 x 500 mm 101-011-0208 Sack 40 S0
%6 | Bolt, machine, M 16 x 600 mm 1-01-0110209 Sack 40 g
27 | Bolt, machine, hexagon head, M 16 x 75 mm 1-01-011-0400 Sack 200 56
28 | Bolt, machine, hexagon head, M 16 x 550 mm 1-01-011-0401 Sack 40 50
29 | Bolt, machine, hexagon head, M 16 x 600 mm 1-01-011-0402 Sack 40 S0
30 | Bolt, machine, hexagon head, M 16 x 650 mm 1-01-011-0403 Sack 30 S0
31 | Bolt, double arming, full thread, M 16 x 450 mm 1-01-012-0001 Sack 40 50
32 | Bolt, double arming, full thread, M 16 x 500 mm 1-01-012-0002 Sack 40 S0
33 | Bolt, double arming, full thread, M 16 x 550 mm 1-01-012-0003 Sack 40 50
34 | Bolt, double arming, full thread, M 16 x 600 mm 1-01-012-0004 Sack 40 50
35 | Bolt, double arming, full thread, M 16 x 650 mm 1-01-012-0005 Sack 30 SO
36 | Bolt, double arming cye, M 16 x 450 mm 1-01-013-0001 Sack 40 56
37 | Bolt, double arming eye, M 16 x 500 mm 1-01-013-0002 Sack 40 S0
38 | Bolt, double arming eye, M 16 x 650 mm 101-013-0005 Sack 30 50
39 | Bolt, round eye, M 16 x 200 mm 1-01-014-0001 Sack 80 S6
40 | Bolt, round eye, M 16 x 250 mm 1-01-014-0002 Sack 80 56
41 | Bolt, round eye, M 16 x 300 mm 1-01-014-0003 Sack S0 56
42 | Bolt, oval eye, M 16 x 150 mm 1-01-015-0000 Sack 80 56
43 | Bolt, oval eye, M 16 x 200 mm 1-01-015-0001 Sack 80 56
Insulators and accessories: .
44 | Wmsulator, pin-post type, TIS 1251, Type 56/57-2 1-03-001-0101 Export 2 30
package
45 | Clevis-eye 1-03-014-0000 Suitable 40 S6
package
46 | Ball-clevis, ANSI Type K 1-03-014-0001 Suitable 30 56
package

Issued by SmartSpec Date. 25/11/22




BID No. N2.EB.(31.)-07-2566 ﬁ
PROVINCIAL ELECTRICITY AUTHORITY

TECHNICAL SPECIFICATION DIVISION

PACKING DETAIL
Specification No.: - Approved date: 14/08/2558 Rev. No.: - Form Na. - Page3 of 3
Number of
: PEA’s material | Packin Quantity
Item ! Equipment , s i packages/cases
‘ No. method package/case
g d g - per pallet
47 | Ball-hook, ANSI Type B 1-03-014-0002 Suitable 40 56
package
48 | Ball-clevis, ANSI Type B 1-03-014-0005 Suitable 40 56
package
Surge arresters:
49 | LV surge arrester, 480 V, SkA 1-04-000-0300 Suitable 100 5
package
Meters:
SO | Watt-hour meter, 1 5(45) A, 3-phase 4-wire 1-06-005-0107 Suitable S0
corrugate-paper
puckage
5l Watt-hour meter, 30(100) A, 3-phase 4-wire 1-06-005-0108 Suimble 50
corrugate-paper
package

2. Sacks used for packing equipment shall have enough durability and shall be made of hemp rope.
3. Bundle packing shall be using galvanized steel wires with diameter not less than 4 mm.
4. Pallets supplied to PEA shall have dimension not more than 1.1 m x 1.1 m (Width x Length) and the total

height after containing the packages/cases shall be less than 1.5 m.

Issued by SmartSpec Date. 25/11/22

1}




BID No. N2.EB.(3%.)-07-2566

Nominal Thread Diameters and pitches of Steel Bolts and Nuts

Bolts and Nuts shall have nominal thread diameters(d) and coarse

pitch, (P} as specified 1n the table below

Nominal Ccoarse Pitch(P)
Thread plameter(d) L
in mm
6 1
8 3 WL
10 1.5
12 1.75
16 2
20, X
24 3
: J
\
b gl

Issued by SmartSpec Date. 25/11/22

55



BID No. N2.EB.(31.)-07-2566

TECHNICAL SPECIFICATION DIVISION

TOLERANCE
Specification No. - Approved date: 31 . 2582 Rev.No.: 01 | FormNo.:- | Pagelof2
MAHYIN (Addendum)
# TEandun ferwramedou | dydnecd Ui
(Lafauns)
© 1 | ssgvenuen T (youmidn Hs gaumin) +5 -3 L (1)
' 5 sraERINgRAUEnanag Slot fis yauwmdn Al i i &
FEBTINYAUENa NN 1 vaumén I
3 | szurainyeaudnansg Slot i yeeudnateg Slot P42 -2 Xt (3 |
U 'wezmnqgguefnmqnau fis yegudnangnax | e s s ! i
ssuzngAguinangnan fh yaguiinansg Slot
: vusdusugudnagnan 10 fadwns G 26 fafwns | « 1 -1 DO i
ey Stot 1 - d1, 92
6 | srmmindmiindaty Bolt +8 -0 B (6)

; L

WUE) :

: () » ] -3’
1. aewwontiag iUl tunsdidedelui
1.1 fnsdmussanueasedsuludoimuamanatinudm

12 Fefwusmanelialddhedaiannsgiugravingaa Gion) sheq Fainsrhyuasiar

aamedaulunmsgrugeamnsu (uen.) finamudn

2. guuanwhsdy uasdydnua Wgyf Page 2 of 2

3 dwsunmsasedusdataifidedimsussneu mndriuendaunitun wu minuseiu, apumdn
sy PEA teanvudnslumsmeaaetUssnauldiuianfuedaniidina lumsesiniuing

Faley
de {
D
R H

]
1

st
———

il

Issued by SmartSpec Date. 25/11/22




BID No. N2.EB.(31.)-07-2566

of

TECHNICAL SPECIFICATION DIVISION

R PROVINCIAL ELECTRICITY AUTHORITY

TOLERANCE

Specification No. -

Approved date :

31 U9, B2

Rev. No. : 01

Form No.: -

Page 2 0l 2

3 13 nasdwdnwal

e e
E?}’ ohd 5 i

i 2 Uy

T e LR Y —

11

|

r s

R
i X2
v UL Sl i e Y 8
“ L 5 X2 A
s (1) U (@)
o= comee o aRR &}
‘DO= ‘Dm;
! !
-@_ ............. _C__D_._ — _._._{E_.._._] ...... L._:'d1
' W e
_E:.'_)_ ..... (-FP-F
x1 : o B

Issued by SmartSpec Date. 25/11/22



BID No. N2.EB.(3%.)-07-2566

“1-
Invitation 19 Rid Ne. :

Specification No. : RHDW-011/2556

C Material, equipment, and specifications for OVERHEAD LINE HARDWARE

Ct  General material and packing instructions

Additional to the gencral instructions, the following shail be observed :

la Scepe

These specifications cover line hardware for overhicad line construction.
Ib Standard

The averhead ling hardware shati be in accotdance with the latest TIS, VDE

Regulations, DIN, and PEA Drawings attached to thesc specifications, or

cquivalent,

le  Principal requirement

The overhicad line hardware shall be marked with manufacturer’'s name or trade-
matk, except full thread double arming bolts, full thread stubbing bolts, and
washers.

All fomous materials shall be palvanized afier manufacturing.  Mecthod of
palvanizing and thickness of coating shall be according to the attached Table
“THICKNESS OF ZINC COATING . Frec sampics shall be supplicd on
request.  The samples will not be retumed.

id Packing

Each itcm should be packed in suitable packages in scts or picees of 10, 50, 100,
or that specificd in Table “Packing Details for Overhicad Line Hardware - (sce
pagce 3 of 3).

The gross weight of cach package shoutd not exceed 40 ky.

If there are several packages. the number of package shall be stamped on cach

package or cach tag, as follows -

package number / total numbcr of packages.

Form No. 93-2/9.13

Papc 1 0of 3

1
Issued by SmartSpec Date. 25/11/22

58



F i

2

2b

2¢

BID No. N2.EB.(31.)-07-2566

o, =

Material and packing data (o be given by bidder

For cach item offered, the following details shall be submitted with the bid :
Cataloguc number.

Description of materials used for the component pasts.

Surface finishing of the component paits.

Zinc coating in gfmz or pm (1 um =0.001 mm),

Minimum breaking strength in kyf.

Weight in kg/set or picce.

For cach item offered, a detail drawing with dimensions in mm shall be submitted

with the bid.

Packing details

Packing method.

Number of sets or picces in cach package.

Dimcnsions of cach package incm.

Gross weight of cach package in ky (should not exceed 40 kg).
Net weight of cach package in kg.

Number of packagces.

If several packages are contained in one big case, further details are required

Number of packages in cach case.
Dimcnsions of cach case in cm.
Gross weight of cach case in kg.

Number of cascs.

Form No. 93-2/9.13

Page 2 of 3

59

Issued by SmartSpec Date. 25/11/22



BID No. N2.EB.(3%.)-07-2566

-3

Table

Packing Details for Overhead Line Hardware

Quantity
PEA Material No. Packing Methed
Per Package
00120004, 01000103 18 Bundle
01200001, 01200002 20 Bundle
01010100, 01200004, 50 Bundle
01200005
01200007 150 (15 per layex) Bundle
01110200, 01110201,
01140000, 01170001, 150 Sack
01180001 .
01110202, 01110203 100 Sack
01110204, 01110205, 75 Sack
01140001, 01140002 |
01110206, 01110207,
01110208, 01110401,
01120000, 01120001, S0 Sack
01120002, 01130000,
(1130001, 01130002,
01140003
01180100, 01180201 500 Sack
01180301 5,000 Sack
02440102 30 Sack
02440103 60 Sack

Form No. 9__3—2/_9.13
Page 3 of 3
I

Issued by SmartSpec Date. 25/11/22

60



